0.04

0.1ppm 0.04 ppm
ppm 2 0.04ppm
D JC D]l m [C D] C) (ppm) | (ppm) x o (@) o
362 8,631 0.001 0 0 0.035 0.004 o 0 o o
351 8,373 0.002 0 0 0.038 0.004 o 0 o o
345 8,276 0.003 0 0 0.028 0.006 o 0 o o
358 8,545 0.002 0 0 0.057 0.006 o 0 o o
343 8,140 0.001 0 0 0.034 0.004 o 0 =} o
0.1mg
0.20mg| 0.10mg /m3
/m3 /m3 2 0.1mg
/m3
() C D]@mympf ¢ ] € | (mg/m3) | (mg/m3) x o (@) o
356 8,618 0.032 0 0 0.164 0.071 o 0 o o
332 8,048 0.032 0 0 0.161 0.066 o 0 o o
358 8,635 0.028 0 0 0.168 0.066 o 0 o o
365 8,715 0.029 0 0 0.163 0.066 o 0 o o
365 8,733 0.028 0 0 0.168 0.073 o 0 =} o
0.04
0.2ppm| 0.1ppm 0.06 | ppm 0.06ppm
0.2ppm| ppm 0.06ppm
98
(D) ¢ D] om | om | ¢ DI C D] € ) (@) (ppm)
347 8,331 0.024 0.111 0 2 1 29 0 0.047 o
343 8,241 0.021 0.108 0 3 1 13 0 0.045 o
341 8,289 0.027 0.108 0 2 1 38 0 0.048 o
365 8,649 0.024 0.102 0 1 0 24 0 0.046 o
365 8,680 0.025 0.114 0 2 1 29 0 0.049 =)
0.06 0.12
ppm ppm o
>
() 1 C D] (pom (D1 >l ¢H) c ) (ppm) (ppm)
364 5,376 0.027 83 377 8 16 0.145 0.046 =<
364 5,406 0.027 87 361 6 13 0.150 0.046 =<
365 5,435 0.024 60 232 3 5 0.134 0.042 =<
365 5,414 0.027 68 339 5 7 0.148 0.045 =<
357 5,256 0.025 79 359 4 9 0.137 0.043 >
0.20ppmC
0.31ppmC
(e}
>
C Dl CpmC) | (ppom@) | (¢ (ppm®) | ppmC) | (
6,942 0.27 0.27 292 0.94 0.07 172 87 >




20ppm 10ppm | ppm
2 10ppm
(D) C )] om | om) | om) [ C )] C) = (@) o
362 8,647 0.5 3.0 1.0 0 0 o 0 o o
362 8,628 0.5 4.1 1.0 0 0 o 0 o o
360 8,573 0.5 3.4 1.0 0 0 o 0 =} o
0.1mg
0.20mg| 0.10mg /m3
/m3 /m3 2 0.1mg
/m3
() C D]@mympf ¢ ] € | (mg/m3) | (mg/m3) = (@) o
361 8,658 0.031 0 0 0.172 0.072 o 0 o o
356 8,542 0.030 0 0 0.178 0.071 o 0 o o
357 8,604 0.033 0 1 0.181 0.079 o 0 >< o
0.04
0.2ppm| 0.1ppm 0.06 | ppm 0.06ppm
0.2ppm| ppm 0.06ppm
98
(D) ¢ ] om | om | ¢ DI C D>] C) (@) (@) (ppm)
364 8,664 0.033 0.110 0 4 2 88 0 0.053 o
365 8,677 0.034 0.107 0 1 1 117 0 0.053 o
359 8,585 0.030 0.120 0 15 4 81 0 0.054 =)
0.20ppmC
0.31ppmC
o
>
C Dl CpmC) | (ppom@) | (¢ (ppm® | CppmC) | (
8,294 0.31 0.33 354 1.12 0.04 253 170 ><




